) €M)

ooa

10—1:

a(d o) (rad)

-1

0 1 2 3

a0 d ) (cm)

10

Rat

l_ B 3 ‘

093" "1 o0 1 2 3

—=— /data2/legianni/pareto-opt/restart/CMSSW_14_0_5/src/MTV-plot/DQM_TT__original_PU m”ne)
—— DQM_TT__pLF_pt09_1PU
—— DQM_TT__pLF_pt09_2PU
—— DQM_TT_ pLF pt09 3PU

......

..............................................................

....................................................

.......................................

. L

|

o 1 2 3
TP ® (PCA to beamline)

o©p_ /P )

=
<
i

3 -2 -1 0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


